Honors Algebra 1 Name ID: 1
Chapter PRACTICE Test 0 (2024) Date Period

Instructions: Show work clearly. Circle final answer.
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Write each as an algebraic expression’ The the variable "n" to describe the numbelf.‘ Do NOT ——=
evaluate. (2 points each)

1) the difference of 25 and a number 2) twice x cubed
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3) the quotient of n and 8 is equal to 45 4) the product of m and 10 is 23
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5) the sum of p and 4 is less than 44
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6) the sum of z and 10 is greater than or equal to 37
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Evaluate each using the values given.LShow the substitution for 2 pts! (4 points each)

13) j—(S—k);usej=6,andk=.5 14) npm - m;usem=6,n=2,and p =2
(- (5-(3)° () () () —¢
6 -6 = aq-C

[ 5]
Evaluate each expression. (2 points each)
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Simplify each expression. Write in standard form with the varlableterm 'ﬁf"s;t';and the constant

last. (4 points each) R BUTE.
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For each equation or inequality determine if -9 is a solution or not a solution - 2PTS.

Ehow your ING the substitution step - 21"['8.7 (4 points each)
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Solve each equation. And Check. (4 points each)
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